
ID

rn

rn

iD

-1

ILL

cm

06

Ici
"

ILL

0,}
C

B
2

M
G
-1

LL

i

l

0

IL

Z
L.

Z

<C

L.

8

E

C

E

<C

.

C

C
CD

3.

2.

Clin.
112 32nd AVENUE WEST, BRADENTON, FL 34205-8096

Ch CLINE ALUMINUM DOORS, INC.

DOORS
Telephone (800) 648-6736

1.

GENERAL NOTES

SER/ES 2OOBE
FRP DOUBLE DOOR

OUTSWING

"IMPACT"

This product has been evaluated and is in compliance with the 5th Edition
(2014) Florida Building Code (FBC) structural requirements excluding the "High
Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E 1996 and Section 1609.1.2.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

SHEET#

1

2

3

4

5

6

1

8

9

TABLE OF CONTENTS

DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details and glazing detail
Horizontal cross sections

Vertical cross sections

Buck anchoring

Frame anchoring

Buck anchodng

Frame anchoring

Bill of materials and components

0

><e

bo
0.

C)
m
I

LU

02
LL

LOCK HARDWARE

YALE 7180(/9TD
MULTI-POINT EXIT DEV/CE

111

11

X

l1l

99.5" MAX. O.A.

FRAME WIDTH

U U

F-1 Fl '

111.
uU

n n

GLAZED DOOR PANEL

Opaque panel also approved

MAX.

FRAME

D/MENS/ON

76.0" x 88.0"

99.5" x 98.0"

111

MAX. DOOR

D.L.0.

DIMENSION

X

22.63" X 32.63"

34.88" X 44.88"

(3

DESIGN PRESSURE (PSF)

POSITIVE

+90.0

+80.0

NEGATIVE

-90.0

-80.0

.........

.oEm * * c
S (D: 4

»

../.....

4
E

8
8

2
a.

D

0

a_

.C 0

0*
0 19

LL

CZ
0
v .

01

0
0

LU

Z

4/4

C)

5 St -lcd '9
11 2: < Tz 3 5
- 0: Z - A cn

/ 0 <F 3 .2 a; m
.·,0 0 F .b in -
/9 0 -1 0 © 00

3 >ida
zo 00 0
Oil Z

0 N .: .
1 .
Ew -

<C

N

k

5
8

0

0

b

LU

0.

0

62

DATE: 9/5/13
SCALE: N.LS.

DWG. BY: JK

CHK. BY: LFS

LO

Si

8

U x:§<
Z"0-0
9 . cw
- O 00-
D .Im
m a. n. It_

DRAWING NO.:

FL-6336.7

E
If)

0

W

95

@
.t
r

0

M >
- CO

Lf)

LJ
A 1-

C\1 <
n

SHEET 1 of 9

0

Z

z
00

LU

ZE
0Z

0 D

0-

Z

0

3

[9

0
N

0

Z

Z

J

U]

Z

0

0

(D

Z

0

.1

J

m



rn

-C!
CO

L.13

<CS
rn

-1

3
C

3
e

At
ro

G

2

<C

:
J

C

0

LL

L.

LI.

CL

e

8

E

C

E
l

CD

C

C

<D

9
c2

CD
m
I

03
Z

/0. h

,

2D

1

2

1-1/4' X 2-1/2" Xl /8" ALUM REINFORCEMENT

LOCK CHANNEL

1-3/8" X 4-1/2" X 1 /8"
(ALUM 6063 T5)

#8-20 X 3/4"

PFH SELF-TAPPING

SMS (TYP.)

LI

1-1

MARINE GRADE

HONEYCOMB CORE

l HINGE TUBE
1-3/8" X 4-1/4" X 1/8"
(ALUM 6063 T5)

- 0.08" OIL TEMPERED

HARDBOARD

/Th HOR/ZONTAL CROSS SECTION

47.75" MAX. PANEL WIDTH-

- 34.875" D.L.0. WIDTH ---

SEE HARDWARE

TABLE

i

111,

40 GLAZED DOOR PANEL

4

X

Er?
o. o

17. T TJ
 HINGE SIDE CAP6063-T5 ALUM.

t L |  FO.125
EE
C)

F -fp-0.
_J

Ci

1.75"

2C

412
#8-20 X 3/4'

PFH SELF-TAPPING

SMS (TYP.)

TOP RAIL

1-3/8" X 4-1/4" X 1/8"--
(ALUM 6063 T5)

0.090' FRP SKIN -//1 1* { 1
LL--Irl

k

CO .
O U

1,

F=
0.05" --lt:13-_L
0.5" --.1-

-) LATCH NDE CAP GLAZING BEAD

5 l89) 6063-TS ALUM.  606345 ALUM.
4 .

-

V

MANUFACWRER

YALE

»0 4
0 1

1 1 .
0.05" -»

7---1.75"- 

 GLAZING BEAD CAP6063-T5 ALUM.

HARDWARE TABLE

MODEL

YALE 718009TD MULTI-POINT EXIT DEVICE
(3-POINT AUTO LATCHING SYSTEM w/
SQUAREBOLT®DEADBOLL SURFACE

VERTICAL RODS & ANTI-PRY BRACKET Kll)

5/8"

- - GLASS BITE STRUCTURAL SILICONE

(3M MARINE 5200)

1/4' TEMPERED GLASS1.75 /DE 0.090" SENTRYGLAS® INTERLAYER

L- 1/4" TEMPERED GLASS

STRUCTURAL SILICONE

(3M MARINE 5200)

G1\ GLAZING DETAIL

#8-20 X 3/4'

PFH SELF-TAPPING

SMS (TYP.)

TOP RAIL

1-3/8" X 4-1/4" X 1 /8" --
(ALUM 6063 T5)

_r-n rr-L 38/)
1 r

0.090" FRP SKIN

MARINE GRADE
3

HONEYCOMB CORE

BOTTOM RAIL -
-- 1-3/8" X 4-1/4" X 1/8" \

(ALUM 6063 T5)

/T\ VERTICAL CROSS SECTION
,/ Glazed Shown

11

1
1

2E

0

I

Iij
Z

EL

>2
<C

i:(2

,

h

1

2

SM:. .
D

= of m 7 * M
= (nEt& 4

4/, d peD
//,I"Iml%6

6 -

0.05"

1 1

0 TOP AND BOTTOM CAP6063-T5 ALUM.

- 47.75" MAX. PANEL WIDTH-

LI

1-1

41

X

-**. SEE HARDWARE 
TABLE

3

2

/3-h VERTICAL CROSS SECT/ON
,/ Opaque Shown 40 OPAQUE DOOR PANEL

V

8

E

i

E

0

D

0

a_

Ec,
£0

0*
014)

LL

CZ
0
v .

C W

L.Ll

Z

--1

0

01

0

0

lili

e
: '31% M

*\ -12 d m

06 Z -
4': 0 2 ui .
• 0 - 1- 0 0

: 0-0 Z 2 0, 19
... 000 5 1= In-

z dE d
0 19 Z

K ON ·:

% 2 525
-m

Di

LU
Z

5
8
LU

8

0

CN

b
CO

Lu

9

E 1+1
doo-
D .-Cm
m Q_ 0- LL

DATE: 9/5/13
SCALE: N.LS.

lf)
r-

0

DWG. BY: JK

CHK. BY: LFS

B

2
lo

2

W
&
%

@
.t

0

DRAWING NO.:

FL-6336.7

M>

SHEET 2 OF 9

.C

lo

N <
\n

=! S

60

CD

20
0Z
8<

0
Z

Z

0

>
LIJ

0
N

0

Z

Z

J
[Il

Z

0

0

[9

Z

0
_1

J

m

B



In

CO

Ici
rn

G

0
C

E

G

LL

i
<C

S

-3
1-

0

LL

Z
LU

Z

<C

CL

L.

a.

E

C

E
3

<C

CD

C

C
Clt

9

D

E

E

V

7

7

V

.

V

.

P

P

1-1/4" MIN.

EMBEDMENT

3

1-1/4"MIN.

EMBEDMENT

A

1//f) f

D

2

8

COL

INTERIOR

EXTERIOR 16
Sih HORIZONTAL CROSS SECT/ON
3 2X Buck Construction

2

8

®
(ii'

 INTERIOR-

INTERIOR

EXTERIOR

EXTERIOR

2 HOR/ZONTAL CROSS SECT/ON

3 Shown w/1 X sub-buck

17

23

2

3

T

1

LJ <1

X

'. S

X
s-r,

f Uy' 11

INTERIOR

1-1 1-1

1

<1

H

9 .

C
 ell-

EXTERIOR 
4 HORIZONTAL CROSS SECTION

3

 INTERIOR p.4   -

EXTERIOR

1

4

4

4

10

3 HOR/ZONTAL CROSS SECTION

3 Direct to Masonry

0

2

4

1

1-1/4' MIN.
EMBEDMENT

9

3

4

4

C

3

3

g

'C

0.>.„0, i.;; 111'lb
22 422 .

2 2:2 8 5
=oEm ** 8
3 (»?·.5 

.........
......

b2

.

9

1

B
@
E

i

2
a.

8
D

0

0
0

LU

Z

8

,,,.
k:'.-

*:fAs M
Ej *Ez 2 &
:00*+--0 0 3i
. 00 Z .20) 19

p. @,-91
Z O% 0

" 019 Z
ON

1 9 5*5
EM Lm
-C 0

0*
U) 19

IL

Ci
CZ
0

CW

23

k
LU
Z

5
8

(\1

DATE: 9/5/13
SCALE: N.T. S.

0

0

CK

0

b

LU

52

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

0

62

Lr)

Si

E
10

FL-6336.7

SHEET 3 OF 9

2

@

8

.t

0

5

D .-cm
m a_ a. LL

lo

LU
A 1-

C\1 <

81
0

0

--J

Z
0

0
ZIZ

M >

Z
0

0
Z

Z

0

>
LU

Or

M

0

N

#31

0

Z

Ig

U]

Z

0
0

Z

0
_1

J

m

1



IT.

.r

-C!
CO

l,n

<B
m

W

C

rn

G

:

-i
[1

CO

0

1-L

LU

CL

8

E

C

E

(1;

C

C

Cls

E

C

9

4

EXTERIOR

4

4

9

ll

Sih VERTICAL CROSS SECT/ON
2X Buck Construction

9

4

INTERIOR

4

40

9

8

4

32

4

E

9

4

3

2

F

4

4

D B z.-

EXTERIOR

1

-Z-Z<-ID-CK

- -_-C-D-Ct
-Z-_-C->C-<

INTERIOR

24

6 u
52 2/

- LU

40

4

EXTERIOR

Z L
= 22

- UJ

C

9

4

9
4

4

4

4

3

i-T-,= i \\4)j

82

/Th VERTICAL CROSS SECT/ON
 Shown w/1 X sub-buck

4

k

t.

4 I

..4 '
. 4

/-4 VERTICAL CROSS SECTION

40

INTERIOR

C--fih

9

9 4

*2

C-LU

EXTERIOR

40'6:...
220 .

O

= 394 2
ioim Y* C
3 025 4 E

4-,........1.....
=al pRO

\(31*K

9 4

. .4 .B

9 4

'E4 .
4 .9

9.·4
9

4 1
4. 4

1 , 1

u 12/

. -IT)

il

40

INTERIOR

/\ VERTICAL CROSS SECTION
4«/ Direct to Masonry

@
E

i
0

b
D

0

0

CL

0
0
0

LU

Z
3
0

/04
.fl U)
:.il CD
Z. *19 E
o: 01 Z d 19

*7860 62
..·/*f *209
0 bo w co

D> 14 CD

Z O 00 0
019 Z
ON ·:

exz<
zo

5 EN
9- -5 2 4 00-
& U)19 D:£m

ma-CLLL

IL

d
CZ
0
-0 .

C W

-J

Ill

N
(f)

k

5
8

0

0

b
m

9
OS

0

0-1

DATE: 9/5/13
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

EL
D

0

@

9 9,

=' 0,1 <

.t

0

3

M >

n m

FL-6336.7

SHEET 4 OF 9

El

E
If)

8}
0

0

-3

QC

Z
0

Fzz

(/)

0
Z

Z

0

>
LU

OC

3

[E

M

0
N

n

0

Z

Of]

U)

Z

0

0

Z

0
-1

J

m



In

Ln

-CJ

CO

Ln

<CS
CO

F

Z
LU

Z
<C

M

LU

CL

M"
m

G

S
i

<C

:

a-

ro

-0

0

LL

E
8
E

C

E

<C

(D

C

C
CD

51
C.

MASONRY

OPENING

2XBUCK

4.

\----/V

.

(E DOOR

4 I

1- i It

- TYP. HEAD

AND JAMBS

-

-

--

4"

(TYP.)

4"

1- (TYP.)

it 1 -1

BUCK ANCHORING

Max. D.P. <= 55 PSF

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortarjoints.

2. Concrete anchor locations noted as'MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR

TYPE

ITW BUILDEX

TAPCON®

ELCO ®
ULTRACON

ANCHOR

SIZE

1/4"

4

MIN.

EMBEDMENT

1-1/4"

1-1/4"

MIN. CLEARANCE

TO MASONRY

EDGE

2-1/2"

2-1/2"

MIN. CLEARANCE

TO ADJACENT

ANCHOR

4"

4"

-

4'

(TYP.)

_l

_l

-f

q
0-
xu

fo
r-

.

MASONRY _/
OPENING

2XBUCK
1

MAX. FRAME DIMENSION 76" X 88.0"

.VI

Q DOOR

..

1 1)1
-

-

- TYP. HEAD
AND JAMBS

-

-

-

-

-

4" (TYP.)

- 4" (TYP.)

-- 4" (TYP.)

--

111 1 4

BUCK ANCHORING

Max. D.P. <= 90 PSF

-

-

-

4"

(TYP.)

-f

q
0-
X L
<n

8O

-1-

-f

-1-

-f

00,0,„,14 11159
..........

S *.# 8
- Z:-

3 2(.1 9* i
S ..3- z

cl g

E

§

0

@

8.
2
0-

.C 0
0*
019

1.4

CZ
0

C LU

./1,<25:.
\*& E

E! SEEK 2 k
42"0 2 Ui .-
' «0 0 Z /9 0; 19

/ @ >- 0 .,
ZOOO 0

" 019 Z
O N ·:

Ew -

LJ

Z

8

QI

0
0
0

N

DATE: 9/5/13
SCALE: N.T. S.

DWG. BY: JK

CHK. BY: LFS

0

b
CD

LU

9

If)

S..

95

@

lf)

'r-

LU
1\ 1-

C\1 <
0

g 5@j

A a_ a. 11_

DRAWING NO.:

FL-6336.7

El

iE
lo

r

0

5

CD

Z

0

0

Z
<C

M
0

ID
01

M >
-D m

SHEET 5 OF 9

N
Di

k
LU
Z

5

0

0

0
Z

Z

0

>
LIJ

M

0
N

Irh

0

Z

Ig

J

[0

Z

0

0

[9

Z

0
-1

J

m



rn

It)

P
-0

00

Ln

<D

rn
ro

LD

I.

2
C

2
Z
L.1-1

Z

<C

0'
Ill

0-

rn

S

e

<C

:

li
(0

0

ILL

E
8
E

C

E

CD

C

C
(1}

M

h

29

%!

l1

LATCH MULLION

8 PLCS 10

..

..

..

DETAIL 1

MASONRY 3
OPENING

BUCK

9

.

.

FRAME

l----/V

J

17

Q
DOOR

I.

G 1 x BUCK

li
DETAIL 2

F 2XBUCK

Q

DIRECT TO 
H MASONRY C

TYP. HEAD

AND JAMBS

SILL (TYP.)

5" (TYP.)
- 4" (TYP.)

SEE DETAIL 3

4

C)
11 1 ts- -

SEE DETAIL 4

-

10 1 1 1
..\ 1 1-14 1----» 13" (TYP.)

, | - SEE DETAIL 5
6" (TYP.) -1 1--

FRAME ANCHORING

Max. D.P. <= 55 PSF

0

It 58

SEE DETAIL 2

-L

20 

(*

DETAIL 3
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comes may be adjusted to maintain the min.
edge distance to mortarjoints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the"MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR

TYPE

ITW BUILDEX

TAPCON®

ELCO ®
ULTRACON

ANCHOR

SIZE

1/4"

1/T

3/16"

5/16"

M/N.

EMBEDMENT

1-1/4"

1-1/4"

1-3/4"

1-3/4"

MIN. CLEARANCE

TO MASONRY

EDGE

2-1/2"

2-1/2"

2-1/2

2-1/2"

MIN. CLEARANCE

TO ADJACENT

ANCHOR

4"

4"

1-3/4"
5"

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8"edge distance. 1"end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

d:

»0 -

r-

MASONRY

OPENING

BUCK 
FRAME -

DOOR
--

4. .
.

..

G 1 x BUCK

DIRECT TO (i
H MASONRYL-

TYP. HEAD

AND JAMBS

MAX. FRAME DIMENSION 76" X 88.0"

16

/

/

14

1 \ *t  - i_/ /1

l

DETAIL 5

F 2X BUCK

- SEE DETAIL 2 -

-

:  SILL (TYP.) -
fEr S' TP.) -

I.

.

SEE DETAIL 6

SILL ANCHORS M FRAME ANCHORING

THRU STEEL PLATE Max. D.P. <= 90 PSF

I-- - 4" (TYP.)

4'

- 1- (TYP.)
111 1 .12'.<

SEE DETAIL 4

-1-

-f

6"

(TYP.)

SEE DETAIL 3

1

E-
d
d
80

16

14
M

0

30 14

(177 1/ 
\\1 /

4 ,

(iff--sETAIL 6®

0

_1

-f

f

89
r-

gj

i5:

SEE DETAIL 1

H/NGE JAMB

®

m

89
-

CO

£9

A

4 PLCS 11

0--00(.1 1* i
S *':

i.

612)

11 2 PLCS

®// 19
00 00

00 0

11! 
i 111 i. \--

\»1 1- 11)

DETAIL 4

@
E

8

2
0-

8
D

@

I./4

O• 017 0 19

O·Z- k 6
4795 12 6 3,

./90:1 *2#r
5 o co co
3 > 1'5 0)

'.. ZOE d
„ 019 ZO N ·:

- Z
:6

EN
.C 0

0*
0 19

LL

CZ
0
v .

LU

Z

0
0

LU

3

W

5
8

0

0

Al

0

2

If)

DATE: 9/5/13
SCALE: N. T. S.

J

m

84

DWG. BY: JK

CHK. BY: LFS

%

b

W

El

lo

E

%

DRAWING NO.:

FL-6336.7

0

M>
-D m

lo

LLI
A 1-
N <

n

r-

SHEET 6 oF 9

CD
Z

0
ZE
0

Z
<C

Lu

x3<
0 0
mv

C Ld

doo-
&2

0
Z

Z

0

IY.

M

0
N

0

0

Z

U}

3

[1]

Z

0

0

[0

Z

0
-1

J

[D



"

ID

P
06

Ln

<CS
CO

m
LD

-1

LL

C

E

cn
C

e

M
In

ID

e

<C

rn

0

ILL

<C

CE

I.

8
0

E
3

C

E

a,

C

C

CD

Cl

MASONRY

OPENING

2XBUCK

.

U--/V

.

CE
Q DOOR ---

1- 1 111

-

-

-

----

ill

BUCK ANCHORING

Max. D.P. <= 50 PSF

CONCRErE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortarjoints.

2. Concrete anchor /ocations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor tab/e:

ANCHOR

TYPE

ITW BUILDEX

TAPCON®

ELCO

ULTRACON

ANCHOR

S/ZE

1/4'

1/4"

M/N.

EMBEDMENT

1-1/4"

1-1/4"

MIN. CLEARANCE

TO MASONRY

EDGE

2-1/2"

2-1/2"

MIN. CLEARANCE

TO ADJACENT

ANCHOR

4"

4"

4" (TYP.)
-- 4"(TYP.)

4" (TYP.)

1 -4

1 1D

TYP. HEAD

AND JAMBS

-

4"

(TYP.)

-1-

4

Cj
d-
X O-

LO
-

*N

MASONRY

OPENING

2X BUCK

a

9

i

MAX. FRAME DIMENSION 99.5" X 98.0"

.

DOOR ---
--

1- 1 1111

-

-

-

-

- 4" (TYP.)
- 4" (TYP.)

-- 1-- 4' (TYP.)

-1 1- 4" (TYP.)

--

1111 1

BUCK ANCHOR/NG

Max. D.P. <= 80 PSF

D

TYP. HEAD

AND JAMBS

-

-

-

-

-

-

4'

(TYP.)

40.,tx!%9

E o!§ 3 *
S ®·.0 z

_l

7

d

x a_

-f

E
E

8
8

2

E
a.

5
D

2
0-

.C 0
0*
01')

LL

CZ
0
i .

C W

LU

Z

0

0
0

1/"
kil,

....te g
5 *..JE d Z

E Of Zr . U. 20
84'.0 -0 --

: 3.- CH o CD
0 2 2 0, 19

ZO£00
O 19 Z

ON ·:

1 .
Ew -

04

DATE: 9/5/13
SCALE: N.T. S.

0

b
CO

DWG. BY: JK

CHK. BY: LFS

0

0

3

LO

LJ
A 1-

C\1 <
0

r-

CD x @ <
zo O

D:-cm
m D. 0. LL

8

DRAWING NO.:

FL-6336.7

k]
Di

k

%

0

0

E
lr)

M >
1 m

SHEET 7 of 9

lf)

S..

W

%

CD

Z

0

IE
0

Z
.C

0
Z

Z

0

CE

01

0
N

631

Z

0

-1

J

m

0

Z

3

U]

Z

0

0



5
'n

(C)

-0

cd

Ln

In

G

C

2
e

<C

Z
L.1-1

Z

<C

M
LU

Cl_

m

i
<C

S

CO

0

LL

E
8
E

C

E

(1)

C

C
CD

05

89

iri

T '

M

P

B

F

1

i DOOR 

I . 1

-1 1

HEAD AND

_ JAMB (TYP.)

SILL (TYP.)

F

- 4" (TYP.)
- 1-- 8" (TYP.)

!\C 1

1

SEE DETAIL 2

LATCH MULLION

1/4"

3/16"

5/16"

.1
1

3

SEE DETAIL 4

9

- 1 is Al i

»l
7.25" (TYP.3 -- -- SEE DETAIL 5

FRAME ANCHORING

Max. D.P. <= 50 PSF

L

· . 12' (TYP.)

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortarjoints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortarjoints. additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR

TYPE

ITW BUILDEX

TAPCON®

ELCO ®
ULTRACON

ANCHOR

SIZE

1/4"

MIN.

EMBEDMENT

1 -1/4"

1 -1/4"

1-3/4"
1-3/4"

MIN. CLEARANCE

TO MASONRY

EDGE

2-1/2"

2-1/2"

2-1/2

2-1/2"

MIN. CLEARANCE

TO ADJACENT

ANCHOR

4"

4"

1-3/4"
5"

WOOD SCREW INSTALLAT/ON NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance. & 1" o.c. spacing of
wood screws to prevent the sp##ing of wood.

- 6" (TYP.)

-1-

-f

-1

-f

(-j
d
50
-

 DOOR
-- 4"(TYP.)

--1 1-- 4"(TYP.)
7-*M #

.. 1 4 1 1 14]-t\11 14 1

SEE DETAIL 4

MASONRY \
1 --®

OPENING _ - HEAD ANDBUCK JAMB (TYP.)

FRAME - SEE DETAIL 2

7.25" (TYP.)

9

SILL (TYP.)

F

SIU ANCHORS M
THRU STEEL PLATE

MAX. FRAME DIMENSION 99.5" X 98.0"

SEE DETAIL 6

FRAME ANCHORING

Max. D.P. <= 80 PSF

16

5" (TYP.)

16  1.,»

0-» 14

(12.)

'it i, , ..
, '1 V

14
30

® 12
12

1\ \ 1   / 1

.LE=!Mi m A 81 - 0&=811 Fl a F ,»===-30
1/ 1
' .'' i '. 6

() DETAIL 5 *fDETAIL 6

4-

. , 12" (TYP.)

-1-

f

1

- 6" (TYP.)

f

8 PLCS 
--t-lit I

.#.

.h.

DETAIL 1 \

(f)

Cj
d
EC)

h
.4:
-

80
CO

EC)
¢9

bo

C'?

-- I

SEE DETAIL 1

17

.."il: 111119
3%................

8
= 5<= 5* li

........

DETAIL 3

11
DETAIL 2

0

11 (%

23

18

4 PLCS

HINGE JAMB 1  2 PLCS

V vm

00 00

®®
11

\,2.11-=11)

DETAIL 4

.S

E

i

2
a.

D

@
a_

LU

Z

8

01

0
0
0

Il"
k//,

4. - .to

O.-Aso il

61 *Ez d A
4'i 62 ui . 2
NZ, 0 C»

.:.¢b: 2 6 0 -
J O (D CO
D > 4 M
0.-.
Z O 00 0
OF) Z

66 ON.:
E

Ew
f 0
0*
0 19

CZ
0
D .

C LU

<C

N
Di

%
E

0

b
CIO

W

(/}

9

DATE: 9/5/13
SCALE: N. T. S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL-6336.7

SHEET 8 OF 9

LU

8

0

lo

S\

95

E
10

0

@

0

If)

LU
A 1-
C\1 <

U x@*
zo O

59£m
m Q. Q. LL

84

CD

Z

0
IE

Z
<C

LU

<C
QS
LL

M >
/ m

0
Z

Z

0

[E

0
01

A,

0

Z

i
5
J

[1]

Z

0
0

8

Z

0
-1

m



rn

K

cd

LA

LD

rn
m
UD

LL

C

C

e

M
03

ID

I.

ILL

3

S
J

-3

0

LL

2
Z
LLJ

L.LI

CL

e

8

E

C

CD

C

C
CD

-

ITEM #

A

B

C

D

E

F

G

H

j

K

M

1

2

3

4

7

8

9

10

11

12

14

15

16

17

18

19

20

21

22

23

24

25

26

27

30

32

40

DESCRIPTION

B/LL OF MATERIALS

1 X BUCK SG >= 0.55

2X BUCK SG >= 0.55

1/4" MAX. SHIM SPACE

1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW

MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

1/4" X 3-1/2" HH LAG SCREW

1/4' X 4" HWH ELCO OR ITW CONCRETE SCREW

1/4"x 3-1/4" HWH ELCO OR ITW CONCRETE SCREW

1/4" x 1 -3/4' HWH ELCO OR ITW CONCRETE SCREW

3/16" x 2-1/4" PFH ELCO CONCRETE SCREW

5/16" x 2-1/4' HWH ELCO CONCRETE SCREW

FRAME

FRAME STOP

5" SLIP PLATE

HINGE REINFORCEMENT

WEATHERSTRIP

WOOL PILE WEATHERSTRIP

4-1/2" X 4-1/2" HINGE

1/4 - 20 x 1 /2" PFH MACHINE SCREW

1/4 - 20 x 5/8" PFH MACHINE SCREW

1/4 - 20 x 1 -1/4" PPH MACHINE SCREW

BOTTOM MULLION BRACKET

TOP MULLION BRACKET

REMOVABLE MULLION (YALE M200FWS)
LATCH STRIKE PLATE (YALE 757)
#12-24 X 2" FH MACHINE SCREW

1/4 -20x 1" PFH MACHINE SCREW

CORNER REINFORCEMENT (1" X 1" X 1 /2" X 4.75" LONG ANGLE)
#10 X 1" PPH SMS

#10 X 1/2" PPH SMS

#8 X 2" CAP SCREW

DOOR SWEEP (PEMKO 345AV)
#6 X 5/8" PPH SMS

HEAD LATCH

SILL LATCH (YALE 795)
STEEL PLATE (1/4" x 4-1/2" x 12") ASTM A36

ADA THRESHOLD ( P EM KO 1 71 A)
DOOR PANEL (SEE DOOR PANEL DETAILS)

MATERIAL

WOOD

WOOD

STEEL

CONCRETE

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM 6063 T5

ALUM 6063 T5

ALUM 6063 T5

ALUM

PVC

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

ALUM

--- 0.72"
D- A

-

'=r. V

/* FRAME STOP

-] - 0.55"

- DOOR SWEEP
(24)
- (PEMKO 345AV)

• 3  .

- 0.25"

16\ REMOVABLE MULLION

1

3/8" 0 HOLE FOR -»
5/16" CONCRETE
SCREW SCREW

(3 PLCS)

7/32" 0 HOLE

TAPPED FOR 1 /4-20

MACHINE SCREW

(7 PLCS)

-f-
k

L

51
M.
0

L

-f--

CS

4.5"

01

0

r f . 1.
u U

 5" SLIP PLATEFull length of head4ambs

-5=n

0

o no

12"

 ADA THRESHOLD(PEMKO 171A)

5.0"

U 2-_5 U

 FRAME

5"

..

Oglo 0

1. -

5" •

(§63 STEEL ANCHOR PLATE
\_/ 1/4"THICK

0.125" -

.

1

0! 1
01

.

40 ,0:...
2 8/
3 *?% %
EBES 5 *

»

: p
..

* PRO
..i"lill litil

b
D

0

0

a_

K
m

E E w

0 0*

B Lu .
0

E 8z
J -0 .

8 iw
0 -10-

LU

Z

J
0

0
0

%4. 0
.1.00----

b o: ..1 s o M
IN E! C Ez 2 ,
. 49 52 6 - S

....le ME 41 mo
Ll O (0 00

D > 4 0

ZO 00 0
Or') Z
0 N ·:

DATE: 9/5/13
SCALE: N.T. S.

E
<C

Lu

8

0

LU

5
0
0

%

N

L
00

0

DWG. BY: JK

CHK. BY: LFS

e X21
zo O

8 m Ew
5Rfm
m Q. OLL

25
lo

W

%

@

99,

DRAWING NO.:

FL-6336.7

r-

0

5

M>

n m

SHEET 9 OF 9

0
Z

U[/)
1 1-
Ctz
LULU
1-Z

LL 
0

01

Z

0

8

3

[E

01

0

N

[9

Z

0

-1

m

0

Z

Z

3

un

Z

0

0


